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What is utility of cost benefit? Analysis it in library
and information centre?
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8. Discuss the methods of performance appraisal.
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What do you understand by job description?
Explain it.
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9. What is zero -base budgets? Explain its advantages

and disadvantage?
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2019(Odd) Old Syllabus

Time : 3Hrs. Sem. -V/MT(LS)
MLIC
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O



O’'Ld

| 2 IRk
& 1D b eh3 ;2 1k LRPh RRIGDIR

8
(S10108)

urew syt ure[dxy jjuowodeuews A1eIqI[ ST JBYM, L

2 M 2K Blh Yai

0h=5X8
"suonsan) AL [[€ JoMsuy
D dNoYd
(2 Rl IRk @ LBBK
10S1€ S1 SY0SLO

yiom Anuyg (p)
1om Sumgoree)) (9)
oM Judwddeuey (q)
yaom Areaqry (e)
pore[al
APoryo aumolg "{ BUIN Sem Woym wolj ()

2RIy (2)
yrRlrl (k)
Ibkigjie (B)
Blepde (i)
i2 IRk Iblb Johbd2h (& 1bk]h
L bBhjko B) b lolkl) kbl RRIE ()

10yoea], (P)

ueLreiqry (0)

1ooursuy (q)

[ouuosiad (&)

(surpyng Areiqry

a3 Jo Sunonysuod AY) ul pASpa[moude
u99q sey uosiad yorym Jo ajo1 jueprodur oy I, )

D BR] 2bbE b hokb| DbRhe ®Ryylbh
07=07X1 : suondo

3uIMO[[0] oY) WO} JOMSUE J[BIINS JSOW A} AS00YD)  °|

vd4dnouaon

SY0SLO 4 10S1€



31501 14 0T5045 0T5045
OR (3121a1) (ii)

Describe the recruitment procedures?
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5. What do you understand by cost benefit analysis?

4
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Define group dynamics? (iii)
g Tfa—fa=s= &1 gy a7
6. What is performance evaluation?
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What are the function of management?
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How is taken decision in these days?
(a) On the basis of scientific methods
(b) Traditionally

(¢) On the basis of modern methods.

(d) None of these

amiwe favfa fea gerR ford wimq 87
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(®) 39 9 BIg 78

What is necessary for the operating of any
system systematically?

(a) To change in its purposes

(b) To study its time to time

(c) To bring stability in its functions.

(d) None of these
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GROUPB

Answer all Five Questions.
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(viii)

2. Discuss the principles of scientific management.
4
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What is the meaning of Functional
organization?

(a) To execute the subdivision work
(b) To divide according to the post
(c) To divide according to the work
(d) Government

fopaTc® HST BT F T I _?
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@) o & FgEAR faure ST

(]) v

Who has right to take decision in library?
(a)To the librarians

(b) To the all personnel

(¢) To the assistant librarin

(d) The personnel
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(xvii) - Which work from the following the (xiy  What is main source of income for the

maintenance department of library has to University libraries?

ascertain. P
(a) Collection of the books .G.C.

(b) Synthesis of the books (b) State
. (c) Government
(¢) Transaction of the books (d) School
(d) None of these
(xvii) TATSrI & IRET famr &1 forer & A () WIS & foe S w1 g Aia @ e?
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(xii)  What is the basis of all services providing
(xviii) How many types of library? by the library?
(a) Four (a) Reader
(b) Two (b) Sufficient collection of the documents
(c) One (c) Personnel
(d) Three (d) Government
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10.

11.

OR (3121a1)
What do you understand by cost analysis?

ARTd ol fagalyor & Sy Fr wHsid 27

Describe the role of human resource development

and Indian library and information centre?

A9 G91EH fda iR ARG grasTerd
Ud Il s & & ST &1 quia
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What are the various sources of revenue for

libraries?
JAPIl & U A & YW Siid RT =7

What is importance of staff training ? Explain it.

8
HHAN) YRR1ETeT BT T Hgad 27 9 B |

P.T.O

31501 17 0T5045

10.

11.

OR (312141)

What do you understand by cost analysis?

ANTd ol fagalyor & Sy Fr wHsTd 27

Describe the role of human resource development

and Indian library and information centre?
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What are the various sources of revenue for

libraries?
YAPIl & U A & Y= Siid AT 27

What is importance of staff training ? Explain it.
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